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Q.1 Choose the correct option in the following questions, mention the correct

option in the answerbook. : S oy
(1) Principle diagonal entries of skew-symmetric matrix are .......... ...
(a) Real (b) Complex (¢) Zero (d) Nome

(2) Inverse of (0,—1)=...... ......
(8) (0,1)  {(b) (1,0) (¢) (~1,0) ({d) (0,0)

(3) Conjugate of z = 8+ 2iis...... e
(8) ~8—2 (b)—4+i (c)8+2 (d)8—2i
(4) Range of the constant functionis.......... .
(a) Empty set (b) singleton set {c) Z (d) N
(5) I f:N = N defined by f(z) = 2* and g : N - N defined by g(z) = 2*

(a) 2° (b) = (c) 2 (d) None
(6) Measure of angle between 2 and 7is............
T i i
— — 0 {d) =

(7) If A = 0 then quadratic equation has . . . ... .. . .
(a) Two complex root (b) Two equal root (c) ‘Two real root (d) none

(8) |(%,i3,l3) =
i 1
@ My @1 @1
(9) f z =logs(125) thenx = ... .........
(a) 4 (b) 2 (c) 3 {d) 5
123 . .
(10} |1 2 3j=............
111 I
(a) 4 (b) ~1 (0 (41
Q.2 Attempt any ten in short: [20]
(1) Find value of sin 150° and tan (—?&E) . | |

(2) Define Transpose of a matrix.

(3) Evaluate (2,3,1) x (1,2,3).
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4) Express 27 = 128 and 8® == 1 in Logarithmic form.

5) Find range of the function f : N = N defined by fle)=a—|a].

(
(
{6) Define vector and unit vector.
(7) Solve : 2x + 3y =7 ;dx-y=9.
(8) Is the function f : R -3 R defined by f{z) = 2% is one one 7.
(9) Find o € € which satisfy (5,6) + a = (2,=1). '
(10) If T = (1,1, 1), ¥ =(1,0,0) then find T — 7.
(11) Express ¥ + ¢1% 4+ 41 — 3412 iy o + ib form.
(12) If A = [4 ?J then find A+ AT . Is it symmetric .
Q.3
(a) H f: N m)N defined by f(z)=z%and ¢: N - N deﬁned by
g9(z) = 2* then find fog and gof .

(b) Solve: (i) 3 {2+ ) 416 {2+ 1) 4 26=0
, X2 z
(i) VA +1+va+1=3 |

OR
Q.3

(c) Find conjugate and Modulus of following :
~34)(6 -4
() @y @) B230-9
2—2 .
(d) Define one-one and onto function. Check whlch of the following
function are one - one and onto?
(i) f 1 R—= R defined by f(z) =z~ dg 45
(i) f*R— R defined by f(z) =2+ Jz].

Q.4
- (a) Prove that (
~ Y7

. Also, find the value of

1—tanf 2_ 1+ tan® 6
1—cot®/) 14 cot?d

tan

(b) Simplify the following :
(i) Tlog(8/5) — 6log(4/15) + 3log(5/72)
(11) log(a®/bc) + log(h*/ca) + log(c 2/ab)
OR
Q.4

(d) Solve the following :
. (1) loggz 81'1: (1}) 50914 -+ 109116 + l09$64 =192

(c) I sin 0 + cosec @ = 2 then prove that sin™ 0 + cosec™ ) = 2 , n €N
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Q.5
(

1 -1 -1 0] o1
mia=ls 7= 5 o=

then prove that A(B+ C)= AB+ AC .
OR

Q.5

{c) Prove that

3;2 2 22

o2

= —(z - y)ly — 2)(z — 2).

— a2

z
1

L1

2 3 . gl
(d) If A= [5 __2} then prove that A = EA.
Q.6
(a) fz=(1,0,0), 7=1(0,1,1), z=(1,1,1) then find [, ¥, 2].

(b) Define vector and unit vector. Find direction cosines of the
LLY);(0L1);(221) 5 i+7 ; 3i+45— 2k
OR

Q6
(c) If (2a,a,—4) and (a,—2,1) are orthogonal then find o .

{d) Solve: 5$+8y+z=2;2y+z:—1;4m+3y-—z:3.

Y._.____,

a) Solve 3z + 2y = 13xy ; —2x + 5y = 4ay by using Cremer’s rule.
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